i b | 1 ; :
77 ( : ) —Efﬂg{_lz +yi+2y+1)=c

(x—v)+log(x+y)=c

2. %

}'2 —ne? g Ry =i
3. %

=y=D%aryt 1P =i
4, %
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Question Number : 81 Question Id : 4509386321 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

a) | Thermal conductivity | 1) | MLT 3K1
b) | Boltzman constant a) (ML Tt
¢) | Latent heat iif) | MLZT 2K
d) | Specific heat iv) | M2I2T 2

1508 a3 23508505
a) | RaerEes i) | MLT K™

b) | SO_HS Voroso | i) | MOIAT 2Kk

o) | H&fao ) | MIZT 2K
3 | 23F R0 V) | MPI2T 2
Options:
a—1i, b—iij c—1iv, d—ii
1.9
a—1i, b-—ij c— 1v, d —iii
2. %
a—iii, b—ii, o d—iv
3. %
a—ii, b-—i ¢ — iii, d—iv
4. %

Question Number : 82 Question Id : 4509386322 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An object 1s projected such that it has to attain maximum range. another body is projected to reach
maximum height. If both the objects reached the same maximum height. then the ratio initial
velocities

28 DoY) ) F5a) FOTEY, HTE YD HBak ) TOHLY RO\, &
50T O B3 LN NaiPR0. NS & TO M De)® HE) STe A )ed

Options :

2-1
1. %

V2:1

2. &

Question Number : 83 Question Id : 4509386323 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Aball 1s projected at an angle of 45° with the horizontal. It passes through a wall of height 'h’ at a

horizontal distance d; from the point of projection and strikes the ground at a distance d; +d,

from the point of projection, then ' is

2,8 208 §82 AXroBdENE 45° Frand (N800 T, & 208 (8
Do) DO d; § 32 Dar0E rdaine B ) ffe) Acdad Te3 25,2 Doy
00 d; +dy BTS00 TR THDNE. WOV B Densd

Options :



2d,d,

T d, +d,
1, %
~ dyd;
- dyptds
2. ¢
1 V2 d,d,
S
d, +d,
3, %
d,d
T
2(d; +dy)
4, %

Question Number : 84 Question Id : 4509386324 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

One second after projection, a projectile 1s travelling in a direction inclined at 45° to horizontal.

After two more seconds it s travelling horizontally. Then the magnitude of velocity of the projectile

is(g=10ms™)

2,8 1393 8:50, |98 0 T 28 VED T30 S0 36 @96 § 82 XTOBENS

45° S80050) TP (ATFEHDN)0. T (233 8a a8 TOh EDO S350 ST 56

§823 0SB0 (NOFEDR), & (D3N8 Gg) I HBATE VeV,

(g=10ms™?)

Options :

10v13 ms™!

1.¢



11 ms™*

2.

10v2 ms™!
3. %

20 ms !
4. ®

Question Number : 85 Question Id : 4509386325 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Three blocks of masses 2 m, 4 m and 6 m are placed as shown n figure,

. . T 4 : .
Ifsin37° = o sin = Ethe acceleration of the system s

2m 4 m 6 m (A5 THeD do e AN HE0S NS dorr
OO, sin37° =2, sin53° = @AY G I T &3060

Options :
¥
a——g
| 30
3
A=
30°



13

a=—g
. 15
15
gl
355

4, %

Question Number : 86 Question Id : 4509386326 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two masses my and m, are connected by a light string passing over smooth pulley. When set free

. . my . : &
m, moves downwards by 3 m m 3 s. The ratio of ﬁls (g=10ms™?)
2

) §2)8 ADF)© Boch (BS5THen my aHBOKH m, 0 e B 2.8 o
38 (Beadobaon. 28 DOIT SAOS, my S0BBYSK 3m Jen
5780 3 DEDOS 280 2 0008 (9= 10ms™)

Options:
9
1. % .
8
2. ¥ ?
10
3. % 7



15
13

Question Number : 87 Question Id : 4509386327 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In an inelastic collision. after collision the kinetic energy

2.8 SOBTE ©9D)redald) Z00) ) HEHS Dens, ©92)arehen 200 eared
Options :

increases by 2 times

2 BEY &HMHD

1. ®

1s less than before collision

€92)3°€55300 22018 0D ZOT) 550 G 0D
2. %

1s more than betore collision

292)533°¢55300 220098 23D0CD OB DBV T 50D
3. %

remains same

DEN0ES 57 GOCECH

Question Number : 88 Question Id : 4509386328 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A spring of 5 X 10°Nm™ spring constant is stretched initially by 10 cm from unstretched

position. The work required to stretch it further by another 10 cm is
5 x 10°Nm™! ()00 Q008 s §ORS 28 (2)0f I 10 cm 0
HO0HDEIR. 88 (200 o OGNS 10 cm APADADEF) TODSIO DA 2N

Options :

75 N-m
1.9

50 N-m

76 N-mn

4 % 82 N-m

Question Number : 89 Question Id : 4509386329 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The moments of inertia of a solid cylinder and a hollow cylinder of same mass and same radius

about the axes of the cylinders are I; and I,. The relation between I; and [, 1s
2,8 |3655073 B 25 asrrdo AR 2.8 500 W0 HBAM 2.8 F'en Y0 ©
346D (27050 AP 9570 B0 AT 1, oD 1. @00 I; AW I,

6§ 0200

Options :

I, <1
1.wl 2



2. ®

L= 1
3 % 1~ 12
4'23 I]_:Iz:ﬂ

Question Number : 90 Question Id : 4509386330 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A wheel of angular speed 600 rev/min is made to slow down at a rate of 2 rad 5. The number of

revolutions made by the wheel before coming to rest 1s
§E300 0363 600 rev/min ) 2,8 TEa0 I 21ad s2TENS SROVAAIR. V50 VS

TIERS $0T) SN0 LI(Ea TR [HDETO A0S
Options :

157



Question Number : 91 Question Id : 4509386331 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Time period of a simple pendulum in Air is T. If the pendulum is in water and executes SHM. its

time period is t. The value of % is
[density of bob 1s 503& kgm™]
TS GE 28 odndedo Bomdds soo T. Sodo IS ok

W, W, O 5 T [}
NOFPTre)8 00 BNt ) BOTHIN 00 . NS - end)

[thoch ro((3e == kgm ]

Options :
2
5
1. %
2
5
2.
3. %
5
2
4. %

Question Number : 92 Question Id : 4509386332 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
For a particle executing simple harmonic motion. match the following statements (conditions) from

column I to statements (shapes of graph) in column IT

column I column IT
a | Velocity-displacement graph (w=1) |1 | Straight lime
b | Acceleration-displacement graph i | Sinusoidal
¢ | Acceleration - time graph m | Circle
d | Acceleration - velocity (w # 1) v | Ellipse

v,

DB&:30re % 5050 T §690 DAADOES' (508 P50 2BIEI0E

2 | Dtfo-gBodo [ (w=1) SINTDIeEN
b | &s8e0- | P0d0 TR i | DTN
¢ | &080-500 Ta) i | 580
d | ¢58e0-300 T2 (w# 1) v | B S9B0
Options :
a-1v. b-1, c-11,  d-111
1. %
a-i1.  b-L. c-11.  d-1v
2. ¥
a-111. b-11.  c-L. d-1v
3. W
a-1v. b-11.  c¢-1 d-111
4. ®

Question Number : 93 Question Id : 4509386333 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Two satellites of masses m and 1.5 m are revolving around the earth with different speeds m two

circular orbits of heights Ry and 2R, respectively. where Rgis the radius of the earth. The ratio of

the minimum and maximum gravitational forces on the earth due to the two satellites 1s

m DOCA 15m (DITHEN (10 TOd sa|ffarfen 2rad tHE Ry DGO 2R
DD K0 HYTSE 85506 D) SEHOS HBESMOL o) on. B0 Ry 24
T5PG0. 2503 S8 SOk G|l IO $OT 5 SHBA KO thted§ ere
RRNC

Options :

Question Number : 94 Question Id : 4509386334 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two copper wires A and B of lengths in the ratio 1 : 2 and diameters in the ratio 3 : 2 are stretched
by forces in the ratio 3 ¢ 1. The ratio of the elastic potential energies stored per umt volume i the
wires A and B 1s

P390 ) 11 2 HOAM 5 e e 3 1 2 5O A HOAW B & Toch o
SO 3: 1286 1) 2ered 27 AT, 508 DIIOSFTIE A HBKY B
SOS Aens) G0T PBTHE A FHO 2D

Options :

Zanl
1. %

4:9

16: 9
3.v

4:3
4, %

Question Number : 95 Question Id : 4509386335 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

216 small 1dentical liquid drops each of surface area A coalesce to form a bigger drop. If the surface

tension of the liquid is T. the energy released m the process 1s

25728388 A &80 ITO50 0 216 D) 2505 |35 DoDHEN SOV ow
2,8 0 DO DEIBD. (5 BIhe3s6h T ©aned, (HEOHES Db @one
38

Options :

1. %



360 AT

180 AT
2. ¢
% 90 AT
120 AT
4. %

Question Number : 96 Question Id : 4509386336 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The length of a metal bar is 20 cm and the area of cross section is 4 X 10™*m?. If one end of the

rod 1s kept in ice at 0°C and the other end 1s kept in steam at 100°C, the mass of ice melted in one

minute is 5 g. The thermal conductivity of the metal in Wm ™K ™" is

(Latent heat of fusion = 80 cal/gm)
2.8 373 86 6 20em SHOOM T HATI FTO0 4x 10™4m?. 4G 2.8
DGR 0°C 56 10 DS, HFE V3G  100°C HE o> A 2705 e
0O, 2,8 AVNOS’ E0A SO B30 5 g 0N S'aTy Gy aaréed 50
WKL & (928550 HaFae = 80 cal/gm )

Options :

| 140

120
2. ®



100

160

Question Number : 97 Question Id : 4509386337 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The work done by an 1deal gas of 2 moles i increasing its volume from V to 2V at constant

temperature T 1s W. The work done by an ideal gas of 4 moles i increasing its volume from V to

|
8V at constant temperature E 18

2,8 00 &S T 5O 2 IO © 2.8 8AE) T0506) aded BTED V 0 2V
2000% TS 3 W. DB S ; 504 36 © 8B6) Ty D
DB V DO 8V OTHEE) BODNIOVS )
Options :
w

1. %

ZW

3w
3.¢

4W



Question Number : 98 Question Id : 4509386338 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
When 40 | of heat is absorbed by a monatomic gas, the increase in the internal energy of the gas is
2,8 8 HBSTENE POV 40] GalR) F0D, F0hsY) ©0s8% 3§ S D
do

Options :

12]

16]

24

32]

Question Number : 99 Question Id : 4509386339 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In a Camot engme. the absolute temperature of the source is 25% more than the absolute

temperature of the sink. The efficiency of the engine is
2,8 58) HOB0S, EaPdaho D &afilie, FderdaNo HB Geiie )
25% ©650. &0 0000 Tw8) 5.

Options :

10%



50%

2. %

25%
3. %

20%
4.

Question Number : 100 Question Id : 4509386340 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The molar specific heat capacity of a diatomic gas at constant pressure 1s C. The molar specific heat

capacity of a monoatomic gas at constant volume is

0 D50 ¢ 2.8 B 5H0PENS TOKY F0erd DIea Frhs0 €. VY

DINOSTEI0 98 2,8 DEISTENE FOIL) TE), erd D3ga 00

Options :
2C
1. % 7
3C
2.v 7
C
7
3. %
4C
7

4, ®



Question Number : 101 Question Id : 4509386341 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Two stretched strings A and B when vibrated together produce 4 beats per second. If the tension
applied to the string A increased. the number of beats produced per second is increased to 7. If the
frequency of string B 1s 480 Hz mutially. the frequency of string A 1s

Boch PTOADDGS Bifen A HO0M B 2370 40203 TA, 28 VD 4
2 )OO €563 ) RO, 3 A % ONNB0TIBD BT VOV, 2.8
8D D)) ) e JORTEN 7 5 BT &1 B 2reds )0350 480 Hz SO0,
i A O 2 250

Options:

473 Hz

1. %

476 Hz

484 Hz
3.¢¥

487 Hz

Question Number : 102 Question Id : 4509386342 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The focal length of a thin converging lens m air is 20 cm. When the lens 1s immersed in a liquid. it
behaves like a concave lens of power 1 D. If the refractive index of the material of the lens 1s 1.5,

the refractive index of the liquid 15

TOS b)) 2.8 @DRFE §6)50 T7ars0S80 20 em. & 8635 2.8 (D06 00D
6 1D (50 o) Y8 E650 ST HATAND. E68 gy S5 theago

1.5 9000 |3:30 (8250 heado

Options :
1.4
4
3
2 %
3]
4
3. %
/j
4
4, ®

Question Number : 103 Question Id : 4509386343 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In young's double slit experiment with monochromatic light of wave length 6000 A. the fringe
width 1s 3 mm. If the distance between the screen and slits is mereased by 50 % and the distance

between the slits is decreased by 10 %. then the fringe width 1s

6000 A 307350 DR 8 SdToBS 2dhdadad Aol 208 DOF HEFIOS,
H8 Schen) 3 mm. B HBAM DO S5 APTRY. 50 % oD, DOL NS
D) 10% S0, 96 Icen)

Options :

12 mm
1. %

5 mm
2.

6 mm

10 mm
4. %

Question Number : 104 Question Id : 4509386344 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Two point charges 6 pCand +10 pC kept at certan distance repel each other with a force of 30 N.

If each charge 1s given an additional charge of —8 pC, the two charges

§0eh PSS 36 BohadS Toth Doch SFFEN +6 uC HOOM +10 pC 2.8
AR DHTES 30 N 2008 DEF0TH Th. (D& eTTRE e300 -8 uC ST

QND,), & BOch STTeN

Options :

1.



Attract with a force of 2N

2N 2008 e8500tDFDD

L 4
repel with a force of 2N

2N 2006 DEG0TDE DD

2. %
Attract with a force of 15 N

15 N 2006 e3580t05 0D

3. %
repel with a force of 15 N

, 15 N 2006 DEB0THETDD

Question Number : 105 Question Id : 4509386345 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In the given circuit. the potential difference across 5 pF capacitor is

995228 SOONOES, 5 PF SarD HEe) s0cds FBVCHS 250

Options :



48V

1.

24V
2

63V
3. %

21V
4. %

Question Number : 106 Question Id : 4509386346 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In a region. the electric field 1s (30{ 5 40D NC™L. If the electric potential af the origin is zero, the

electric potential at the point (1 m,2 m) is
2,8 NBF0S, D 360 (301 4 40]) NC2. X070 Dohey 56 e SFHICHS

T 0NN, (1m,2m) DOcDs) 98 DENIS FBVANO

Options :

—60V
1. %

—75V
2. %

=H5V



=310

Question Number : 107 Question Id : 4509386347 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In a potentiometer. the area of cross section of the wire is 4 cm®. the current flowing in the circuit

is 1 A and the potential gradient is 7.5 Vm ™. then the resistivity of the potentiometer wire is

2,4 SO D i eachpses TS0 4 cm?, HOOHO HOT (DIF0D NS
DTF0 14 00 FBIAHO (369 75 Vm™! @00 & FBIAT S &
OS¢

Options :

3x 1072 Om
1.«

2% 107 Om

4% 107% Om

5% 107* Om

Question Number : 108 Question Id : 4509386348 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Drift speed (v) varies with the intensity of electric field (E) as per the relation

53 3B (), DS T (& B (E) & EOB &50¢H 5020630
Options:

rvakE
1.9

Question Number : 109 Question Id : 4509386349 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A current carrying coil experiences a torque due to a magnetic field. The value of the torque 1s
80 % of the maximum possible torque. The angle between the magnetic field and the normal to the

plane of the coil i
DS [DTaTN), 28 BDHE) WO 06 T (50 S0 €75} $ SHyehod. &
676, wPeis 0 (1852 D), VeSS 80 % Dexnsd 0T eahry 06 3 @8 sBoky
3 800 02PN %3 §80

Options :

30°
1. %



2. ®
3
(]
an~ |2

3. %
4
T (3)
an |3

4.

Question Number : 110 Question Id : 4509386350 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An electron is moving with a velocity (2? + 3D ms ™" in an electric field (3f 16+ ZE) Vs ™! and

a magnetic field of [2} }: EE) T. Then the magnitude and direction (with x-axis) of the Lorentz

force acting on the electron 1s
28 JOFD (2i+3])ms? Jod S T b0 (3i+6]+2k) Vs sHBO
(27 +3k) T o ©0DRF,08 30 How DO, NS & JO[FTHR

AT SB0F 20 H0SFE0 DB OF (105 N S)

Options:

2
96 % 10717 N, 6 = cos™! (—)

V5

5
9.6 X 1071° N, 6 = cos} (—)
V2



2
2.15 x 10718 N, 0 =pag " (—)

3.¢¥ ik

5
2.15 x 10718 N, 8 = cos (—)
V2

Question Number : 111 Question Id : 4509386351 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
A magnet suspended in a uniform magnetic field is heated so as to reduce its magnetic moment by

19%. By doing this. the time period of the magnet approximately

2,8 D508 @D 06 3 (S0 BTt 2 @ONI0ER), TR S0H;08
2755080 19% &7 NSO FE BT, BEr TOVGO HOS, & AHI,050 TS}
BOTHN 00 Dr&T

Options :

Increases by 11%

11% 0&MHEDOE
1.¢
Decreases by 19%
19% e5(hedod
2. ®

Increases by 19%

19% 22D OO



Decreases by 4%

4% SDHeHOO
4. %

Question Number : 112 Question Id : 4509386352 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the current through an inductor increases from 2 A to 3 A. the magnetic energy stored in the

inductor increases by
2,8 (D380 T 507 (NeSeTotuTd) e5d 24 00 34§ DA, W8S deg
03 @D 08 48 S D&MD

Options :

125%
1.¢

50%

Question Number : 113 Question Id : 4509386353 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the figure, if A & B are identical bulbs, which bulb glows brighter
30 IO, A SO B 9 FISTHR 2e0)en. FES IO (5 FH0e0T
eNMHenody?

e @

I @B

10 pF

Options :

A
1.4

Both with equal brightness

BOCE® 2.8 DO (DS O

Both do not glow

B0 319

Question Number : 114 Question Id : 4509386354 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
The Solar Radiation 1s

S DESET N 9D
Options :

Stationary wave

DG eBormen
1. %
Mechanical wave
QS0 €38 edBorren
2. %
Transverse EM wave
33555 DEDFAADY06h edbBomren
3.¢
Longitudinal EM wave
i e NTY5 DD SO0 dSomen
4,

Question Number : 115 Question Id : 4509386355 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Energy required to remove an electron from aluminmum surface 1s 4.2 eV. If light of wavelength

2000 A falls on the surface. the velocity of the fastest electron ejected from the surface will be

@OTDA0N0 BO0 DOG 28 JOITR D SONNTAS THOVS 45 4.26V.

SS0NTY0 20004 O TOB & $00 ISIND, B SO0 HOd IV

DO[FDO {01 (10

Options :



8.4 x 10° ms™ !
1. ¢

7.4 % 10° ms™ !

2.

6.4 %X 10° ms™!
3. 3

8.4 X 10°ms™*!
4. %

Question Number : 116 Question Id : 4509386356 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
[f the bonding energy of the electron in a hydrogen atom 1s 13.6 eV. then energy required to remove

electron from first excited state of Li%* is
TPEES GSTEN)S DO|FS R0E, 0 4813.6 6V e Lit e 5B
08 DOG O[T & OIS TR 48

Options:
122.4 eV
1. %
3.4eV
2. %
13.6 eV
3.



30.6 eV

Question Number : 117 Question Id : 4509386357 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A mixture consists of two radioactive materials 4; and A, with half lives of 20s and 10s

respectively. Initially the mixture has 40 g of A; and 160 g of 4, . The amount of the two in the

mixture will become equal after
90 A6 $ere 20 5 O 10 sTHE) 4; HOOL 4, B DAEF 768 Srersen
00 5. & DFN0ES Send 40g© 4, DO 160g© 4, HFOT §00).

& D[F00 'R B LTFOS [H5THON XTSRS 58 0

Options :

60 s

80s

20 s

40 s

Question Number : 118 Question Id : 4509386358 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If n, and ny, are concentrations of electrons and holes in a semi-conductor, then the intrinsic carrier
concentration (n;) m thermal equilibrium 1s

2,8 OGTPE0E DOTS HOAN S0ITTe ESEY SN n, IO 1, WOV

€l DBVBS ) £2P2 e FararE TPCHeS (ny)

Options :

— n'E
n; = fnh

1. %
Iy
I —
g
2. &
I = /eIy
3. ¥
In; = Ig + Iy
4.

Question Number : 119 Question Id : 4509386359 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the given digital circuit if the mputs are A = 1,B = 1 and C = 1 then the values of y; and y, are

respectively
18085 30N ERES SOOHNES AFTEN A = 1,8 = 1580 € = 1 9a0dy,
2DB0 y; 2NN AT
A
Y2
B ._j
 +—i ¥
Options :
0,1
1.¢¥
0,0
2. %
3 % 1,1
4% 1.0

Question Number : 120 Question Id : 4509386360 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the maximum and minimum voltages of an A. M wave are V., and Vi, respectively, Then the

modulation factor ‘m’ 1
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